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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(@) x>+ 18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0 @2&4&+16=0

2 What is the value of factorial Zero (0!) 7
(a) 10 (b) 0 Q- _ -1

3.If sin @, +sin @, +sin §,=3 then cos @ +cos 6, +cos 6=

(a) 3 (b) 2 (@1 o~

N

4. Ifx=rsinfcos ¢ ,y=rsinésing, z=rcos & then x* +y* +z° is independent of

@b, ¢ b6 (@r, ¢ Adr

5 if s1n(x+y) _ a+b then tanx _
sin(x-y) a-b tan y

)
@~ Blab 94 (da |
6. The equation of the straight line passing through the point (4, 3) and making intek&pts on the co—ordi_ncage axes
whose sum is—1 is 3(\;3,?&\\(_ RS

XL
De,‘bﬁ\' \3‘3‘“\\, .\.‘{06
T2 +yB=-landx/-2+y1=-1  (b)x/2-y/3=-1andx/-2+y/l -] S g gne?
(©)x2+y3=1andx2+y/1=1 d)x/2-y/3=1 ang X2 +5N=1 Y Gond
\ \6
N
v ‘l: :?-{’\,,' !
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7.Distance between two parallel planes 2x + y + 2z = 8 and 4x + 2y + 4z + 5 =0 is N

(a) 312 (b) 52 @# () 972

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length ol i
semi—major axis is

(a) 4/3 (b) 873 (c)7/3 (d) 5/3

g

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

(a) (0,2) (b) (0, 1) o)1, 0) (d) (2,0
%
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z= 0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a)0 (b)2 (c) Square Root of 3 (d)2 Square Root of 2
11.If ps, pk and pr are coefficients of static friction, kint;fic friction and rolling friction, then W
(@) ps<pk<pr  (b)pk<pr<ps () ur<pk<ps (d) pr=pk=ps
12.Impulse equals :
(a) rate of change of momentum Mange in momentum
(c) momentum multiplied by time (d) ratf;uof change of force
13.*Net fofce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(c) May be in uniformly accelerated motion \(ﬂ)fl?"oth a&b
14.The coefficient of static friction between two surfaces depends upon
\@zrhe normal reaction (b) the shaj)e of the surface in contact A

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(¢) Frictional force is proportional to the area of contact between the two surfaces

(d)/l(iﬁetic friction is always greater than rolling friction



16.No work is done if (a) displacement is zero (b) force is zero
(c) force and displacement are mutually perpendicular (d) Adl Qf the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision (b) Efastic Collision .(c) Destructive collision  (d) None of the options
18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(a) 1217 (b) 13717 (c)227]) (d)1821]

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

(\a)/ 100 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration (c) Pewer  (d) Displacemen
@ 21. As an electroplated protective covering, what metal is used?

a) Plutonium Jbp)y€hromium

c) Nickel d) Iron

22 Which of the following statements concerning transuranium elements is incorrect?

a) Atomic number > 92 \b)Example is Thorium

c) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?

a) They are soft metals with a white silvery colour

b) They tarnish rapidly by cir

c) The hardness of the metals increases with increase in the atomic
&y The melting point of the metal ranges from 500-1000K

24. AgCl fails to pass which of the following tests?

a) Alkaline test b) Acidic test
&) Chromyl chloride test d) Baeyer’s reagent test

25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

number

a) Concentration of reactants and temperature
@ b) Concentration of products and temperature .
.<c)Rate constant and temperature
d) Rate of catalysis and temperature
26. What effect does temperature have on the half-life of a first-order reaction?
a) It increases b) Itdecreases c) It remains the same d) Both increases as well as
decrease
28 In 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time it took to complete 87.5 perc
3—/\ of the reaction.

a) 30 minutes b) 60 minutes \,e)’% minutes o d) '120 minutes '
‘ ,)Sb 27 When the molecules of a substance are kept at the surface of a solid or a liquid, what is the name of the process’
a) Absorption Jb)yAdsorption orption d) Desorption

94 28. Which of the following assertions

Qm‘t(he@(ﬁnt of physisorption is correct?
a) Increases with increase in temper: SO

_b)Becregses with increase in surface area
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¢) Decreases with increase in the strength of Van der Waals forces d) Decreases with increase in temperature _
’5029. Which of the following is.not a lyophobic colloidal example?

old solution b) Sulphur solution ¢) NaCl solution d) Blood
“How are différent colours used to make gold colloidal solutions?
a) Different diameters of colloidal gold particles b) Variable valency of gold
c¢) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the

- quadratic equation.

./\
\/ﬁ;+18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0 (d)x’-18x+16=0

2 What is the value of factorial Zero (Q!)
(a) 10 (b)0 (d)-1 . L

3. If sin @,+sin 6, +sin 6,=3then cos & +cos 6, +cos 6=

(a) 3 (b)2 @1 e /

4. Ifx=rsin6cos ¢ ,y=rsinfsing,z=rcos & then x’ +y2 +z* is independent of

(@8, ¢ (byr, 6 (cr, ¢ (d)r "’k

sTn(x+y) ___a+b _— tanx _
sin(x—y) a-b t

any
@2 b % V«éb 0\
a
|

6. The equation of the straight line passing through the point (4, 3) and making intercepts o the' co-ordinate axes
whose sum is —1 is

5. 1f

WOS ot
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(a)x2+y3=-landx/-2+y/1=-1  (b)x/2-y/3=-1andx/-2+y/l1=-1 L e‘aﬁf‘it\“%ﬁoﬂ
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7.Distance between two parallel planes 2x +y + 2z = 8 and 4x + 2y + 4z + 5 =0 is

(a) 3/2 52 (c) 7/2 (d)9/2 "’/\

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length oi ti
semi—major axis is

(a) 4/3 ‘ 8/3 © 73 d) 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at
(@ (0,2) ) (0, 1) Sor (T, 0) @0

10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z=0 and

Xx—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b)2 (c) Square Root of 3 Mquare Root of 2 -
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then J
@ps<pk<pr  (O)pk<pr<ps _(Fpr<pk<ps  @Qu=pk=ps -
12.Impulse equals
(a) rate of change of momentum M&nge in momentum
(¢) mouentum multiplied by time (d) rate of change of force -
13.*Net fofce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest | (b) May be in uniform motion
(c) May be in uniformly accelerated motion \/Ld‘)’ﬁoth a&b —
14.The coefficient of static friction between two surfaces depends upon
Me normal reaction (b) the shape of the surface in contact ) <
(c) the area of contact (d) None of the these %
15.Which of the following statements about friction is true?
(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body

(¢) Frictional force is proportional to the area of contact between the two surfaces

(d) Kir€tic friction is always greater than rolling friction \
e



'16.No work is done if (a) displacement is zero  (b) force is zero
|

-

(¢) force and displacement are mutually perpendicular We above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision \Wstic Collision () Destructive collision  (d) None of the options

18 Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(a)1211J M J (c)227] (d) 1821 —

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

\/(er)/{ 00 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh —
20.The rate of doing work is called . (a) Force (b) Acceleration Wr (d) Displacemen
™ 21. Asan electroplated protective covering, what metal is used?
a) Plutonium Chromium 1 -
¢) Nickel d) Iron

-

\B%centration of products and temperature

22 .Which of the following statements concerning trapsuranium elements is incorrect?
a) Atomic number > 92 \/B?Efxample is Thorium -
c) Decay radioactively as they are unstable d) Elements after Uranium
23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour .
©) They tarnish rapidly by air —
Q) hardness of the metals increases w1th increase in the atomic number

e melting point of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test S

omyl chloride test d) Baeyer’s reagent test

25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
%
ate constant and temperature
d) Rate of catalysis and temperature
26. What effect does temperéture have on the half-life of a first-order reactlon'? _ :
a) It increases \_/b-)/lf?:::reases c) It remains the same _~d) Both increases as well as
decrease
—In 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time it took to complete 87.5 perc

he reaction . M -
a) 30 minutes b) 60 minutes 2" (-JO\\G 90 minutes : d) 120 minutes
When the molecules of a su ¢ t at the surface of a solid or a liquid, what is the name of the process’
a) Absorption Adsorptlo : ¢) Sorption d) Desorption
24. Which of the following Bout the e?;tent of physisorption is correct? o '
a)'Increases with increase\n emperatur - b) Dmreases with increase in surface area
(::-x ' ¢
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c) Decreases with increase in the strength of Van der Waals forces ).)/Dé;eases with ingf_f_iii in-temperiture 1
& Which of the following is not a lyophobic colloidal example?

old solution b) Sulphur solution ¢) NaCl solution d) Blood A
30. How are different colours used to make gold colloidal solutions? N
a) Different diameters of colloidal gold particles b) Variable valency of gold
c¢) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

\\_——’
(a) x> +18x+16=0 (b)x*- 18x-16=0 (c)x*+ 18x- 16=0£g)4<2- 18x+16=0
2 What is the value of factorial Zero (0!)
(a) 10 (b)0 /(p) 1 (d) -1 -
3. If sin @, +sin 6, +sin §,=3then cos @ +cos 6, +cos 8=
(a) 3 (b)2 (€)1 (do -
4. 1fx=rsinfcos ¢ ,y=1sinfsing, z=rcos @ then e A + 2’ isindependent of
}B,tﬁ (b)r, € (cr, ¢ (dr
& If STn(x+y) _ g+b then tanx _
sin(x—y) a-b tan y
@2 ®mab  @F @b | /
a )-b W
‘\ ‘\b \\i
6. The equation of the straight line passing through the point (4, 3) and making lntercepts on'the co- Or(,i;\l%a@ \eg Cc ﬂ
whose sum is -1 is P N q,\\‘d\
o\\f“ o SE O
; C A
(@) x2+y3=-landx/-2+yl=-1  (b)x/2] Gfoaad K2+ /1 =-1 — M oe

(©)x2+y/3=1and x/2+y/1=1 9
%6(1% o




7.Distance between two parallel planes 2x + y +2z=8 and 4x + 2y + 4z + 5=01s «

(a) 372 (b) 5/2 ©712 @92 &
8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of tic
semi—major axis is ;
s
A
(a) 4/3 /ij’BB (c)7/3 (d)5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

(@ (0,2) () (0, 1) ©1,0 @0
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z =0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is i

o
(a) 0 (b)2 (c) Square Root of 3 W Square Root of 2
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then »
(@ ps<pk<pr  (b)pk<pr<ps W<pk<ps (d) pr=pk =ps S e
12.Impulse equals
(a) rate of change of momentum _(b)change in momentum Ko™ 7)
(¢) momiciitum multiplied by time (d) rate of change of force
13.*Net folrce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(c) May be in uniformly accelerated motion @/Both a&b
14.The coefficient of static friction between two surfaces depends upon
Mc normal reaction (b) the shape of the surface in contact _ | L4

(c) the area of contact (d) None of the these
15.Which of the following statements about friction is true?
;(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Fri:c;tional force is proportional to the area of contact between the two surfaces

(d) Kinetic friction is always greater than rolling friction



16.No work is done if (a) displacement is zero (b) force is zero
(c) force and displacement are mutually perpendicular (d) All of the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain

conserved? @(/
( .

(a) Inelastic Collision }b)/Elastic Collision (c) Destructive collision  (d) None of the options

18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

(a) 1217 9/1’4'7] (c)2271] (d) 1821]

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?
‘(}ymo kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh s

20.The rate of doing work is called . (a) Force (b) Acceleration yowcr (d) Displacemen

21. As an electroplated protective covering, what metal is used? N

a) Plutonium __b)yChromium

¢) Nickel d) Iron -

22 Which of the following statements concerning transuranium elements is incorrect?

a) Atomic number > 92 __byExample is Thorium \ 7

c¢) Decay radioactively as they are unstable d) Elements after Uranium '

23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour )
oy They tarnish rapidly by air SN
©) The hardness of the metals increases with increase in the atomic number
d) The melting peint of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test X3
_&) Chromyl chloride test d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
b) Concentration of products and temperature \\
ate constant and temperature
d) Rate of catalysis and temperature
26. What effect does temperature have on the half-life of a first-order reaction? _ .
a) It increases b) It decreases }YE remains the same d) Both increases as well as
decrease
28 In 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time it took to complege 87.5 perc
of the reaction. T
230 minutes b) 60 minutes cy90'
29. When the molecules of a substance are kept at the Susf:

T _\\?g(-  ~o N

\ d) 120 migutés
ofa solid or a llqu1d what is the n O‘f/ he pragess’, i

y & v
a) Absorption _b) Adsorption «6) Sofpaion e d)D\‘ iqn R o ,\\
28. Which of the following assertions about tbc\exfenwf hysisorption is correct? p& \\» \. 20
a) Increases with increase in temperature )Decreases with incregst Y‘agq‘,‘ﬁ ca
‘c\ .
Y 9‘5\“&
N




c¢) Decreases with increase in the strength of Van der Waals forces d) Decreases with increase in temperature
2. Which of the following is not a lyophobic colloidal example? ' ’

_2) Gold solution b) Sulphur solution ¢) NaCl solution d) Blood ‘\_
. 30. How are different colours used to make gold colloidal solutions?
a) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(@) x*+18x+16=0 (b) x*- 18x-16=0 (c)x2+18x-16=0@}2-18x+16=0 __

2 What is the value of factorial Zero (0!) :
(a) 10 (b) 0 (4 o (d)-1

3. If sin @, +sin @, +sin 6,=3 then cos @ +cos &, +cos 6=
(a) 3 (b) 2 (c)1 Jdre
4. Ifx=rsindcos ¢ ,y=rsinBsing, z=rcos @ then x’ + y’ +z’ is independent of

\(/a)/ﬁ,g} (b)r, @ r, ¢ (dr _—

& if sTn(x+y) =a+b then tan x -
sin(x-y) a-b tan y

@2 mab @f (d)ath !
a \})/b = e A

s \\‘”
6. The equation of the straight line passing through the point gi*) akmg 1nterceb¢§' e o- ordlnatc;\fmes

whose sum is -1 is Q‘.\ 631\_P’ ee{\\‘%. &b‘
O g\%““ Gnatt”
(a)x/2+y/3=-1and x/-2 +y/1 =-1 (b) x/2 - y3S-1 -2+y/1 =-1 ¥ o
(c)x2+y/3=1land x2+y/l =1 Jdx/2-y3=1 and x/-2 +y/l = 1
O
O.(D/\;,\\f)




7.Distance between two parallel planes 2x +y +2z=8 and 4x + 2y + 4z + 5=0is %

(a)3/2 (b) 5/2 ROZL (d)92
8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the lengih of the
semi—major axis is

(a) 4/3 (b)8/3 (c)7/3 . (d) 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

(2)(0,2) (b) (0, 1) o1, 0) - @0

T

10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x —2y +z =0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b) 2 (c) Square Root of 3 \(d)Z Square Root of 2

11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then )
(@ pus<pk<pr  (b)pk<pr<ps (Opr < pk <ps (d)pr=pk=ps_

12.Impulse equals

(a) rate of change of momentum (b)change in momentum

{c) .uomentum multiplied by time (d) rate of change of force .

13.“Net fofce acting on an object is found to be zero.” It can be inferred that the object

(a) May be at rest (b) May be in uniform motion

(c) ng‘be in uniformly accelerated motion ((d)Botha & b v |

14.The coefﬁéieht of static friction between two surfaces depends upon
(a)}the normal reaction (b) the shape of the surface in contact. ’ A 4

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(¢) Frictional force is proportional to the area of contact between the two surfaces

\(}}*Kinetic friction is always greater than rolling friction "



'

16.No work is done if (a) displacement is zero  (b) force is zero
(c) force and displacement are mutually perpendicular  ¢d) Adl of the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision (b) Elastic Collision (c) Destructive collision )- (d) None of the options

18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

(a) 1217 (b)447] (€)2271] (d) 1827

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?
(a)4100 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration (c)Power (d) Displacemen

—
L

21. As an electroplated protective covering, what metal is used?

a) Plutonium «byChromium

c) Nickel d) Iron :

22.Which of the following statements concerning transuranium elements is incorrect?
a) Atomic number > 92 \byExample is Thorium _

¢) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour
b) They tarnish rapidly by air
c) The hardness of the metals increases with increase in the atomic number®~
«)The melting point of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test
+&yChromyl chloride test d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature _de

nce bf reaction rates.

| 1C5 o

a) Concentration of reactants and temperature ; % c&ée\‘h\ce\\c -

b) Concentration of products and temperature * 3 oe? _P\ee{‘ﬁ% -;D(‘f‘“\

<) Rate constant and temperature & 6{\%\?‘ Gt

d) Rate of catalysis and temperature @ (:)0\\6 ‘ SO 0\\\9‘;\\'

26. What effect does temperature have on the % @b first-order reaction? _ ‘
a) It increases DAt decreases 97 2k emains the same—— d) Both increases as well as
decrease (,/(\Q»

28 In 30 minutes, a first-order reaction is $0% ¢
of the reaction. _ e _
a) 30 minutes b) 60 minutes \&Y90 minutes d) 120 minutes

: 9&72/7 . When the molecules of a substance are kept at the surface of a solid or a liquid, what is the name of the process’

a) Absorption JbyAdsorption ¢) Sorption d) Desorption
0,28. Which of the following assertions about the extent of physisorption is correct? o . .
a) Increases with increase in temperature \biecreases with increase in surface arca
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c) Decreases with increase in the strength of Van der Waals forces d) Decreases with increase in tempersure .

~y0 29 Which of the following is not a lyophobic colloidal example?

& Gold solution b) Sulphur solution c¢) NaCl solution ~ d)Blood
. How are different colours used to make gold colloidal solutions?
) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the

- quadratic equation.

(@)X +18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0,(d)x"-18x+16=0

2 What is the value of factorial Zero (0!
(a) 10 (b)0 : (c @-1

3.1fsin @, +sin 6, +sin 6,=3 then cos @+ cos @, +cos ,=

@3 ()2 ©1 Ao

4. 1fx=rsinBcos ¢ ,y=rsinfsing,z=rcos & then x* +y’ +2* is independent of
6,¢ (b)r, 0 (r, ¢ (d)r b

sin(x+y) a+b tan x
= = then
sin(x—y) a-b tan y

™
@l mab \J,zrf/ (d) a+b
a b

6. The equation of the straight line passing through thegpo!
whose sum is—1 is N

5.1f

2
@ Ae® \

1(4,3) and making intercepts o the‘gg-,dﬁ‘dinate axes

-\

¢ ' = -i\.\ A\T'D
-y 4 4 ‘béb\ C’o\ )
(a)x/2+y/3=-1and x/-2 +y/l =-1 x/2-y/3=-1and x/-2 +y/1=-1 R E’\Cie‘\.'\\\.%_-\l&({b’:‘
(c)x2+y/3=1landx/2+y/1=1 (d)x/2-y/3=1and x/-2+y/1=1 - Oéﬁcg\?bo\c:.‘*
RGOS
Q e Do
P
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7.Distance between two parallel planes 2x +y +2z =8 and 4x + 2y + 4z + 5 =0 is

\M (b) 512 ©72 N @

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the
semi—major axis is

(a)4/3 JM’/ | (©) 73 ) 5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

(2) (0,2) () (0, 1) (1,0) @ (2,0)
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z =0 and

Xx—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

y/ (b) 2 (c) Square Root of 3 (d) 2 Square Rgé\of 2

11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then

o
@ps<pk<pr  (b) pk<pr<ps \/(snu(’ukws (d)pr=pk=ps
12.Impulse equals "
(a) rate of change of momentum change in momentum
o {c) momentum multiplied by time d) rate of change of force
13.Net force acting on an object is found to be zero.” It can be inferred that }pe object
M be at rest (b) May be in uniform motion r\
(c) May be in uniformly accelerated motion  (d) Botha & b
14.The coefficient of static friction between two surfaces depends upon
Mrmal reaction (b) the shape of the surface in oont'a'ct‘ L4

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

(d) Kinetic friction is always greater than rolling friction” '



16.No work is done if (a) displacement is zero (b) force is zero \_.f‘

(c)Aforce and displacement are mutually perpendicular (d) All of the above

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision Mic Collision (c) Destructive collision ~ (d) None of the options

18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

(a) 1217 W (c)2271] () 1827 _

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

MO kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh
20.The rate of doing work is called . (a) Force (b) Acceleration ower  (d) Displacemen

£ 21. As an electroplated protective covering, what metal is used?

a) Plutonium hromium

c) Nickel d) Iron '

22 Which of the following statements concerning transyranium elements is incorrect?
a) Atomic number > 92 vﬁ%ample is Thorium

c¢) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?

a) They are soft metals with a white silvery colour

b) They tarnish rapidly by air-

) The hardness of the metals increases with increase in the atomic number

The melting point of the metal ranges from 500-1000K

24. AgCl fails to pass which of the following tests?

a) Alkaline test b) Acidic test
Md?nnyl chloride test d) Baeyer’s reagent test

25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
b) Concentration of products and temperature
Rate constant and temperature
d) Rate of catalysis and temperature
26. What effect does tempegature have on the half-life of a first-order reactxon’? _
a) It increases \})/I((?eycreases __c¢)Tt remai tckxe sa% d) Both increases as well as

decrease

O
Z?.'In 3() minutes, a first-order reaction is 50% complete. C;i @oun&of time it took to complete 87.5 perc
; )

he reaction
a) 30 minutes b) 60 minutes 0 mn%t d) 120 minutes

When the molecules of a-stbstance are kept at the surface of a solid or a liquid, what is the name of the process’
a) Absorption dsorption ¢) Sorption d) Desorptlon N
28 Which of the following assertions about the extent of physisorption is correct? \
a) Increases with increase in temperature b) Decreases with increaséjin surfz}c? area;

ﬂ_ Ty \‘\\ C ‘s
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c) Decreases with increase in the strength of Van der Waals forces '—:d@:ases with increase in tempe~ature
}E) Which of the following is not a lyophobic colloidal example?

old solution b) Sulphur solution c¢) NaCl solution d) Blood  _
30. How are different colours used to make gold colloidal solutions? b
a) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(a)x*+18x+16=0 (b)x*-18x-16=0 (c)x2+18x-16=0}d/)'x2-18x+16=0
L

2 What is the value of factorial Zero (0!)
(a) 10 (b) 0 (o)t (d)-1

3. If sin @,+sin @, +sin @,=3then cos 6, +cos 6, +cos 0=
(a) 3 (b) 2 (c)1 /Ldio
4.1fx=rsinfcos ¢ ,y=rsinfsing,z=rcos & then x’ +y’ +z* isindependent of

ﬁ)ﬁ,q} b)r,0  (Or, ¢ (dr

sTn(x+y) =a+b then tanx _
sin(x—-y) a-b tan y

5. If

@2 mab  @F (e
a b .
%0
6. The equation of the straight line passing through the point (4€\)\ )
whose sum is -1 is D
,\'\Q‘:_“ o
(a)x/2+y/3=-1and x/-2 +y/l =-1 (b)x/2 -y/3=-1and x/-2 +y/1 =-1 ;\«:,'«3‘)’_6\:-\-,,(""\
(c)x2+y/3=1and x2+y/l=1 (yx/2-y3=1 and x/-2+y/1 =1 % o2t \;\)}gl
= \)\’\‘\‘;\\\ A
== 3. Y oxa
~ ( / - \ #)
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7.Distance between two parallel planes 2x +y +2z=8 and 4x + 2y +4z+ 5=01is

(a) 3/2 (b) 5/2 }9)«7‘/.—2 e (d) 972

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the
semi—major axis is

(a) 4/3 (by8/3 (c)7/3 (d)5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at
(2) (0,2) () (0,1) L1 0) (d) (2, 0)

10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z= 0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b)2 (c) Square Root of 3 (d)2 Square Root of 2
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then J
(@) ps<pk<pr  (b)pk<pr<ps (eypr<pk<ps (d) pr=pk = ps
12.Impulse equals |
(a) rate of change of momentum ﬂzj\” change in momentum
(c) maiieatum multiplied by time (d) rate of change of force
13.“Net fo'rce acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(c) May be in uniformly accelerated motion ~ (d)Both a &b~ |
14.The coefficient of static friction between two surfaces depends upon
’(a)’ihe normgl reaction (b) the shape of the surface in contact -
(c) the are:a of contact (d) None of the these

15.Which of the following statements about friction is true?
(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

}df)’Kinetic friction is always greater than rolling friction



-

16.No work is done if  (a) displacement is zero (b) force is zero
(c) force and displacement are mutually perpendicular /(,d')/fkll of the-above

17.Whic}c11is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision _(byElastic Collision (c) Destructive collision  (d) None of the options

18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.

(a) 1217 9)4"47 I (c)227] (d)182]

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?
9)/.100 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh

20.The rate of doing work is called . (a) Force (b) Acceleration Mows’r’ (d) Displacemen

™ 21. Asan electroplated protective covering, what metal is used?

a) Plutonium b) Chromium

Sy Nickel d) Iron
22 Which of the following statements concerning transuranium elements is incorrect?
a) Atomic number > 92 ) Example is Thorium "
¢) Decay radioactively as they are unstable d) Elements after Uranium
23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour
b) They tarnish rapidly by air 3
c) The hardness of the metals increases with increase in the atomic number

_d)The melting point of the metal ranges from 500-1000K
24. AgCl fails to pass which of the following tests?
a) Alkaline test . b) Acidic test

_s)Chromyl chloride test N d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
™  b) Concentration of products and temperature
ate constant and temperature
“d) Rate of catalysis and temperature
26. What effect does temperature have on the haif-life of a first-order reaction? .
a) It increases by Tt decreases ¢) It remains the fame: (;0\\7?’@ Both increases as well as
decrease -

2% In 30 minutes, a first-order reaction is 50% complete. Calqy\}a{g{@é Tmbungef time it took to complete 87.5 perc
of the reaction. R T\ ‘
a) 30 minutes b) 60 minutes /ef90 minutes o d) .120 minutes (
24. When the molecules of a substance are kept at the surface of a 591id or a liquid, what is the name of the process
a) Absorption b) Adsorption Q’Sorptio.n < . ci) D ; orption
26, Which of the following assertions about the extent of physisorption 18 correct? /A _
a) Increases with increase in temperature v 1 b)_\Decreas 1ncr€$g§2\8;$iace area

~A j\ . RN
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s R
_ey Decreases with increase in the strength of Van der We{al}forces d) Decreases with increase in tempcrature
Which of the following is not a lyophobic colloidal example?

a) Gold solution b) Sulphur solution MaCl solution, -\/ d) Blood

30. How are different colours used to make gold colloidal solutions?

a) Different diameters of colloidal gold particles b) Variable valency of gold

c) Different concentrations of gold particles d) Impurities produced by different methods
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Note:- Attempt all Questions. Each question is of 1 mark.

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(a)x*+18x+16=0 (b)x*-18x-16=0 (c)x2+18x-16=\(-)(/dd{l-18x+16=0

o

2 What is the value of factorial Zero (0!)

10 (b) 0 ©1 @1

3.1f sin @,+sin @, +sin @,=3then cos @,+cos 6, +cos 6=

(a) 3 (b) 2 (c) 1 o

4. 1fx=rsinOcos ¢ ,y=rsinBsing, z2=rcos @ then x’ + y* +2 is independent of

\)wﬁ,/ep b)r,®  (Or,¢ (dr

in(x +
o if sin(x + y) =a+b then tan x i}

sin(x—y) a-b tan y

(a) b byab \};/ (d) a+b
a b

6. The equation of the straight line passing through the point (4, 3

whose sum is —1 is a O A 4 g
‘\ C \‘\\
A
(a)x/2+y/3=-1and x/-2 +y/1=-1 (b) x/2 =-1 and x/-2 +y/1 :\-k;r} (\b& \‘w?'f‘l “J"
(c)x2+yB3=1andx/2+y/l1=1 /2 - )’f3‘] andx/2+y/1 =1 ‘DQ‘%O%F?UG“@
oo
- \Y,
s Op/
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7.Distance between two parallel planes 2x +y +2z=8 and 4x + 2y +4z+5=01s

(a) 312 (b) 52 W ' (d) 972

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length of the

semi—major axis is y

(a)473 (b) 8/3 ) (c)7/3 (d)5/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at

1

&
@)(0,2) ®©1) TN\ © (1,0) @ (2,0)
10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y + z=0 and

.
x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b)2 (c) Square Root of 3 Waxe Root of 2

11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then

(@ps<pk<pr  (b)pk<pr<ps MWS (d) pr = pk = ps

12.Impulse equals

(a) rate of change of momentum \_(b)«f@‘ in-mémé;tmn

(c) momentum multiplied by time (d) rate of change of force

13.*Net fofce acting on an object is found to be zero.” It can be inferred that the object

(a) May be at rest (b) May be in uniform motion

(c) May be in uniformly accelerated motion \M &b ‘)

14.The coefficient of static friction between two surfaces depends upon

(a) the normal reaction \/m shape of the surface in coﬂ{ét v

(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?

(a) Friction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

(d) Kirfetic friction is always greater thantolling friction



~ %6.No work is done if (a) displacement is zero  (b) force is zero
(c) force and displacement are mutually perpendicular 11 of the above
[ T

17’.Whic}:i ri)s the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision \Sl;t)’l{ast’i_g__CUHision (c) Destructive collision  (d) None of the options
18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(a)121] (b) 147 J (©) 227] @182) T

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

ﬁo kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh-

20.The rate of doing work is called . (a) Force (b) Acceleration \(;H’o/we'r «(d) Displacemen
£ 21. As an electroplated protective covering, what metal is used? “

a) Plutonium \/B{Cu;:omium

c) Nickel d) Iron

22.Which of the following statements concerning tr ium elements is incorrect?

a) Atomic number > 92 vﬁ?g:?;lple is Thorium

c) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?
a) They are soft metals with a white silvery colour
b) They tarnish rapidly by air

\/g)/'l:he hardness of the metals increases with increase in the atomic number

) The melting point of the metal ranges from 500-1000Ky
24. AgCl fails to pass which of the following tests?
a) Alkaline test b) Acidic test
w&omyl chloride test __d) Baeyer’s reagent test

25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
# b) Concentration of products and temperature
ate constant and temperature
d) Rate of catalysis and temperature
26. What effect doe‘s;;::yefature have on the half-life of a first-order reaction?

a) It increases t decreases ; c) It remains the same d) Both increases as well as
decrease
2%-1In 30 minutes, a first-order reaction is 50% complete. Calculate the amount of time i;e took to complete 87.5 perc
of the reaction. '\5\(3‘ QQ\\GQ
a) 30 minutes b) 60 minutes Aﬂimutes ?‘_ And d) 120 minutes ,
2@; When the molecules of esubstance are kept at the surface of6 sofidor/a lignid, what is the name of the process
a) Absorption _,b/ﬁw&?c’):pﬁon ¢) Sorptign” " © d) Desorption
Which of the following assertions about the extent of physisorption i§ correct? _ :
ﬁnareases with increase in temperature b) Decreases with ncrgase} surface area
Q = s
C&;}’fj:f/ \ L e et
D\reG:l,\gm CO\\?. = Q P\c:k( D .;‘0“}(
Engineazia " . AP by
R'Dbu'ﬂa‘ G ¢F



c) Decreases with increase in the strength of Van der Waals forces Mes with inerease in temperature
- -,

29. Which of the following is not a lyophobic colloidal example? .
a) Gold solution b) Sulphur solution ¢) NaCl solution d) Blood
30. are different colours used to make gold colloidal solutions?
ifferent diameters of colloidal gold particles b) Variable valency of gold
¢) Different concentrations of gold particles d) Impurities produced by different methods
)
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Note:- Attempt all Questions. Each question is of 1 mark. e

1 Let two numbers have arithmetic mean 9 and geometric mean 4. Then these numbers are the roots of the
quadratic equation.

(a)x*+18x+16=0 (b)x*-18x-16=0 (c)x*+18x-16=0 @)}{3-18}{+16=0
.

2 What is the value of factorial Zero (0!) ,
(a) 10 (b)o (O%g (d) -1

3. If sin @,+sin @, +sin 6,=3then cos @,+cos 6, +cos €=
(a) 3 (b) 2 (c)1 {dyo—
4. Ifx=rsinfcos ¢ ,y=rsinfsing,z=rcos & then x’ +y* + 2% isindependent of

J2v0, ¢ by, 8 (@Qr. 4 (Ar

& 1f sm(x+y)=a+b - tan x -

sin(x—y) a-b tan y

(a) 2 (b) a-b _@%  (dyath

6. The equation of the straight line passing through the pomt (4,3) and rﬁaT(mg 1nte&t\w;%§gco~tﬁdmate axes

whose sum is —1 is : ,"‘ —\\\.
cade™
\\b 32 P e,‘a“_ ‘,.(«,x.. , .
(a) x/2+y/3=-1and x/-2 +y/1 =-1 (b) x/2 - y‘@&; l x/-2 +y/l1 =-1 9 gﬂ‘a—‘f‘“:."..-‘.‘-&,.'w"""
(c)x2+y/3=1land x/2+y/l =1 \(g)/fo y/3 = l'and x2Z+y/ll=1 R. 'Du\.\.;\f
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7.Distance between two parallel planes 2x +y+2z=8and 4x +2y +4z+5=01is 3

(a) 312 (b) 52 (e)7/2 (d) 92

8.A focus of an ellipse is at the origin. The directrix is the line x = 4 and the eccentricity is 1/2. Then the length ol the
semi—major axis is

(a) 4/3 MB (c)7/3 - (d)s/3

9.A parabola has the origin as its focus and the line x = 2 as the directrix. Then the vertex of the parabola is at
(2) (0,2) (b) (0, 1) (o)1, 0) (@) (2,0)

10. A plane passes through (1, — 2, 1) and is perpendicular to two planes 2x — 2y +z =0 and

x—y + 2z = 4. The distance of the plane from the point (1, 2, 2) is

(a) 0 (b) 2 (c) Square Root of 3 (d)2" Square Root of 2
t
11.If ps, pk and pr are coefficients of static friction, kinetic friction and rolling friction, then )

(@ pus<pk<pr  (b)pk<pr<ps {Sr <pk <ps (d) pr=pk = ps

12.Impulse equals

p 4

[a)fate of change of momentum (b) change in momentum\
(c) momeituin multiplied by time (d) rate of change cf force

13.“Net force acting on an object is found to be zero.” It can be inferred that the object
(a) May be at rest (b) May be in uniform motion
(¢) May be in uniformly accelerated motion @Both a&b

14.The coefficient of static friction between two surfaces depends upon

\(3)/% normal reaction (b) the shape of the surface in contact hedf
(c) the area of contact (d) None of the these

15.Which of the following statements about friction is true?
\Laa/Fﬁction can be reduced to zero (b) Frictional force cannot accelerate a body
(c) Frictional force is proportional to the area of contact between the two surfaces

(d) Kinetic friction is always greater than rolling friction



16.No work is done if (a) displacement is zero (b) force is zero
(c) force and displacement are mutually perpendicular @),Aﬂ of the above
L

17.Which is the type of collision in which both the linear momentum and the kinetic energy of the system remain
conserved?

(a) Inelastic Collision  (b) Efastic Colligiqn (c) Destructive collision  (d) None of the options
18.Find the potential energy stored in a ball of mass 5 kg placed at a height of 3 m above the ground.
(a) 121J W’!J () 227] (d) 182]

19.An electric heater of rating 1000 W is used for 5 hrs per day for 20 days. What is the electrical energy utilized?

(2700 kWh (b) 200 kWh (c) 120 kWh (d) 500 kWh
20.The rate of doing work is called . (a) Force (b) Acceleration _(c)Power  (d) Displacemen
(™ 21. As an electroplated protective covering, what metal is used?
a) Plutonium b) Chromium
&) Nickel d)yIron “
22 Which of the following statements concerning transuranium elements is incorrect?
a) Atomic number > 92 \byExample is Thorium
c) Decay radioactively as they are unstable d) Elements after Uranium

23. Which of the following is not a lanthanide property?

a) They are soft metals with a white silvery colour

b) They tarnish rapidly by air

) The hardness of the metals increases with increase in the atomic number
&y The melting point of the metal ranges from 500-1000K

24. AgCi fails to pass which of the following tests?

a) Alkaline test b) Acidic test

&) Chromyl chloride test ~_d) Baeyer’s reagent test
25. Plotting a graph between temperature and reaction rates can reveal the temperature dependence of reaction rates.

a) Concentration of reactants and temperature
™ b) Concentration of products and temperature
©yRate constant and temperature

d) Rate of catalysis and temperature
26. What effect does temperature have on the half-life of a first-order reaction?

a) It increases \l})/l(decreases ¢) It remains the same d) Both increases as well as
decrease =
9;\ 24 In 30 minutes, a first-order reaction is 50% complete. Calculate ;hg:zémp@t.zﬁf time it took to complete 87.5 perc
of the reaction. R | ‘
a) 30 minutes b) 60 minutes @’9(0 minutegy” 00 d) .120 minutes ‘
; ‘);b 27. When the molecules of a substance are kept at the Slg{ﬂacéib‘f& d or a liquid, whgt 15 the name of the process
i i rption / tion
a) Absorption Adsorption ¢) Sorption /- ) Desorp
()/q 26. Which of the following assertions about the extent of physisbrption is correct? . . ‘l ]
a) Increases with increase in temperature b) Decreases with iicrease ! surface area
Qﬁ;’f‘i/
CF’\}}’/ ot o ﬁ ‘ AC L LgE
0'\‘?6 9. 3™ QINEF
(\C)\(\‘ X o P‘C(&( e_ ‘N\(jaL
0 e¥ 96‘5 1.'\‘\0“ UT:--\“
YoV (\:_‘(\\':_‘-\‘ GO
AL 'Q\>\\L




c) Decreases with increase in the strength of Van der Waals forces {I)/D%creases with increase in tempetature |
30 29. Which of the following is not a lyophobic colloidal example?

\@)Gold solution b) Sulphur solution c¢) NaCl solution d) Blood.
30.-How are different colours used to make gold colloidal solutions?
a) Different diameters of colloidal gold particles b) Variable valency of gold
c) Different concentrations of gold particles d) Impurities produced by different methods



